= AH O
N = 0 &8 AF S & Al A
20108 =4 1 3 LetglH DES ~ HEH
2 D4
H: DHSAIEEHI
el XSz (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
DES 625,710 620,655 5,055
DESANEAY 321,290 311,290 10,000
XS e =R 321,290 311,290 10,000
FO=RAUAHO AL 320,000 310,000 10,000
401 Al&HIL 20 320,000 310,000 10,000
01 Al&H| 320,000 310,000 10,000
OF0=JAH 110,000 100,000 10,000
OZ2U0IS otx=7 HHIE A
Z A 45,000,0002 45,000 40,000 5,000
SEXNTR 52 ZEAZAM
23 25,000,000 25,000 30,000 25,000
OUISHE(ENS) =8 SAM[EIEH]
a3 0¥ 0 30,000 30,000
O=x=20ISEHITEZAM[EIIFA] 22,000 0 22,000
OSSR TAANA[EIIZH] 8,000 0 8,000
OSAIK M0 o2 A 10,000 0 10,000
OF0IAHAIH 210,000 210,000 0
OF<-uAR s2 SEBAl
Z3A 45,000,000 45,000 50,000 /5,000
OFHXNF sYIIAIE HHISAHEIIZE]
2 o0& 0 50,000 50,000
OLEg 8SJ|17 EXIAN[RII1EEH] 50,000 0 50,000
OS2 22 HH|IZA
23 40,000,000 40,000 50,000 A 10,000
OUH=0IE Hi4=2 EBI2AM[EI13H]
38 0& 0 10,000 A 10,000
OARDTOIAHIAIH ZAHEIIZH] 25,000 0 25,000
DESLEHHAFTAN2H 179,601 181,234 AN 1,633
eSS PSESRS| 38,151 39,784 A1,633
HAS X 2el 38,151 39,784 A1,633
201 Let2YH| 14,719 16,352 A 1,633
02 S=2494| 14,719 16,352 AN 1,633
OHZHI[HAE 2] Z & 8,100,000 8,100 9,000 A900
OANXEZHISXIHI [0l AHE 2] 2,181 2,422 A241
OFANSX 2H 1,778,400 1,779 1,976 A197
OXIDEX ZA 401,4002 402 446 N4
ORXFEFA B[Ol AR 2] 4,438 4,930 N492
ossgx ZH 2,092,500 2,093 2,325 A232
Ost2xt A 2,344,500 2,345 2,605 A 260
HES2HZHI 124,819 128, 131 N3,312
Jl2ddl(n4ds) 114,019 117,331 A3,312




SMN: D488

I #™eARy|

el JI2AHI(243) (cte: &
A -3 -H2A(SH) - HEAMY - BES Of &F 2K plpsgel: Hlns2t

J|23 114,019 117,331 A3,312
201 ety 42,779 47,531 N4,752
01 AFR22/Hl 21,814 24,237 A2,423
OLBt=2H| [0 AHE 2t] Z 3 16,710,300& 16,711 18,567 A1,856
CEEL =Py A 5,103,0002 5,103 5,670 N567
02 2324l 20,965 23,294 A2,329
OB LMAI[M A& 2] 16,825 18,694 A 1,869
OPJE=F=Erier= 33X 2,700,0002 2,700 3,000 A300
OFMEIIZ 33 6,300,0002 6,300 7,000 AT700
O IR r= 2 540,000 540 600 AB0
oREe= 33 6,750,000 6,750 7,500 AT50
OXZHASSE A 135,000 135 150 A5
oxz=sz 3 327,600 328 364 A36
OJIEt 3 72,000 72 80 N
OAEEHIKXIHI[0l AR 2] 4,140 4,600 A460
oA 23 180,000 180 200 A20
O= A 33 1,080,000 1,080 1,200 A120
ol EP) A& 180,000 180 200 A20
OJIEF&HI 33 2,700,0002 2,700 3,000 A300
202 O] 66,240 64,800 1,440
01 2o 66,240 64,800 1,440
O=2UoibI[=RI1ZH] a5 0 0 64,800 64,800
O=UotI[=2I1Z2H] 66,240 0 66,240
OZHLH O bl 200,000 x27 % « 128 64,800 0 64,800
Ol o4 Hl 30,0002 x4 x 128 1,440 0 1,440




S AARH
I AFALCI AL A
Cel: XS FEMNL= (&te @2
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
ArAHE 282,362 284,231 A1,869
AFAHS AL A 150,500 150,500
XA ML= 150,500 150,500 0
F0I=2AUH O AL 150,000 150,000 0
401 Al&HI LY 150,000 150,000 0
01 Al&H] 150,000 150,000 0
OF0l=2 ALY 50,000 50,000 0
Ol0ls HUE BLZAHRIZE] FH 0 0 20,000 220,000
OIS Hi42 EHIZAHEIIZE] 20,000 0 20,000
OFQAHYAY 100,000 100,000 0
O250I2 S2EHIZAHRIIZH]
3 02 0 20,000 220,000
OF20I2 222 FHIZAHEIIZH] 20,000 0 20,000
AMEHUSMHH T2 78,051 78,742 AB91
eSS ES S PSESS] 28,981 29,672 AB91
HALS X 22 8,521 9,212 691
101 Q144 1,774 1,716 58
04 JIZH22REES 1,774 1,716 58
(@FIPNPNR-LIR=Re] ZA 1,773,300 1,774 1,716 58
201 LEt2HH| 6,747 7,49 AT49
02 2224l 6,747 7,49 AT49
OB AMZCISKI[0lAHE 2] 3,592 3,991 A 399
OZA & &1 X4 ZA 1,422,900 1,423 1,581 A 158
oue K2 ZE 2,025,000 2,025 2,250 A205
OFAMAI|IOHEA A ZA 144,000 144 160 A16
OXt2ES Y| [0l AFE 2] ZE 2,344,500 2,345 2,605 A 260
OAAZH SXIHI[0lAE2] 810 900 A90
OuLter)| X A 450,000 450 500 A50
OuWlFDIl & |4 Z3A 360,000 360 400 A40
™ 2HAH| 53,811 54,989 A1,178
Jl2H|(aAtH) 44,211 45,389 1,178
Jl=AH 44,211 45,389 1,178
201 LErR2YH| 17,091 18,989 A1,898
01 AtR22t2IH] 10,269 11,409 A1,140
oLetx=2H| [0l AR 2] 7,556 8,395 A 839
OJ|=2x2H| Z3A 3,532,500 3,533 3,925 A392
OEAMI EH(EY) 1Y ZA 540,000 540 600 B0
OYoIMERIH EH(EH) 2
Z3A 1,296,000 1,296 1,440 A144
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S A

Hu: IS AAY

el D123 (Aate) (etel: =3
SNBSS NRAY - B2 0 & 24 013 o HlE2

OYdaxnEeyd 23 4 2 & 432,000 432 480 A48
O=SAMEX 7Y 23 1,620,000 1,620 1,800 A 180
Ogsdl elE & 43 2 F&E 135,000 135 150 A15
ozt [oarE2] Z2& 2,079,000 2,079 2,310 A231
OAMRIII SXIBI[HAEZ] 634 704 AT0
oA Sl Z& 90,000& 90 100 A10
O=E Al KXl 23 270,000 270 300 A30
OZgd |AXdl 2 & 183,600& 184 204 A20
OelEIl |XH| 2 & 90,000 90 100 A0
02 223l 6,822 7,580 AT58
OZSS2SLHMAI[M L= 2] 6,822 7,580 AT758
OJl=E3Re= Z2& 1,188,000 1,188 1,320 A132
OFM =ke= 2& 324,000& 324 360 N36
OFM HIIe= 2 & 3,780,000 3,780 4,200 A 420
ONsEegz Z & 450,000& 450 500 A50
oREz Z& 1,080,000 1,080 1,200 A120
202 O 27,120 26,400 720
01 =AY 27,120 26,400 720
O=UubI[2I1ZE] 23 0 0 26,400 N 26,400
O=2UAHHI[RI13H] 27,120 0 27,120
Ol 200,000& x11H*12& 26,400 0 26,400
O=2 ¢l 30,000 x2H 128 720 0 720




S Gt
M SIUHANHFYTXN2H
el FOIOHESMH X (ol &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K plpsgel: Hlns2t
[o=TRei] 295,755 296,474 AT19
SYHUMHY TN S 89,134 91,106 A1,972
FOOtEHHEX 36,634 38,606 A1,972
HAR X 22 27,143 28,304 A1,161
101 Q1A 1,764 1,716 48
04 JIZtH22NsSES 1,764 1,716 48
OF AR 22l 33X 1,763,750 1,764 1,716 48
201 ety 10,879 12,088 A1,209
02 324l 10,879 12,088 A1,209
O 2 [0l aFE 2] 3,291 3,900 AB09
OFA ¢12H] 33 3,291,0002 3,291 3,900 AB09
OAEEHIKXIHI[0l AR 2] 2,778 2,978 A 200
O FAIS I 22 23X 1,164,0002 1,164 1,364 A 200
Ot | [0 AR 2t ] 3 4,810,000& 4,810 5,210 A400
213229 9,491 10,302 AB11
101 Q124 1,764 1,716 48
04 JIZtHM22SES 1,764 1,716 48
O=Xz2 FIFEA a2 AHF 1,763,750 1,764 1,716 48
201 ety 7,727 8,586 A859
02 B3=29Hl 7,727 8,586 A 859
OAEZHISXIHI [0lAE2] 7,727 8,586 A 859
O=X32 X2 AF 1,127,0002 1,127 1,986 A 859
HY2H A 56,321 55,068 1,253
Jleddl(ste®) 46,721 45,468 1,253
J|23| 46,721 45,468 1,253
201 ety 15,001 16,668 A1,667
01 AFR22/Hl 9,018 10,020 A1,002
OLBt2H| [0 AR 2] 6,498 7,500 A1,002
OPIE=E3-1.] 33 3,858,000 3,858 4,260 A402
O=2A EHRY A 740,000 740 1,340 600
02 22294l 5,983 6,648 ABB5
03322 < MA[oa=E2] 5,983 6,648 AB65
oJlgs3e3 2 775,000 775 1,440 AB65
202 04 H 29,520 28,800 720
01 2o 29,520 28,800 720
O=3UubI[RIIZE] 33 oA 0 28,800 28,800
O=UolbI[=2I1ZH] 29,520 0 29,520
O2tLHod bl 200,000 x 122« 128 28,800 0 28,800
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S A 502

M SIOIHY MY IR

el FOIOHESMH X (ol &2
SH-EFHHA(FA) - NIRAE - BES Ol &uF OH |8 HnE2

101 QI244] 1,764 1,716 48
04 JIZH2 2SS 1,764 1,716 48
O=Xzgl2elo2Y 3 1,764,0002 1,764 1,716 48
201 ety 2,268 2,520 N252
02 2324l 2,268 2,520 A252
O=X3 2 SXIZe| [0 arE2] 2,268 2,520 A252
oFIIe2 33X 2,148,000 2,148 2,400 N252
HYR2AAY 55,365 56,450 A 1,085
D2yl (at018) 45,765 46,850 A1,085
Jle2Zl 45,765 46,850 A1,085
201 LErRAH| 16,245 18,050 A1,805
01 AFR22/dl 9,333 10,370 A1,087
CEELNEN=Fly 33X 1,483,000 1,483 2,520 A1,087
02 B329Hl 6,912 7,680 AT768
03322 < MA[ola=E2] 6,912 7,680 NT68
oJlgs3e3 23 672,000 672 1,440 NT68
202 04 H 29,520 28,800 720
01 2o 29,520 28,800 720
O=3UubI[RIIZEF] 338 0d 0 28,800 28,800
O=UobI[=2I1ZH] 29,520 0 29,520
O2tLH0od 200,000 x 122« 128 28,800 0 28,800
OZQ o4t 30,0002 x2Z 128 720 0 720




SA: atels

M M2IC AR Y|
SETEDEEY- BITES (el &
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 JIE o HRs2
abel ™ 299,061 300,220 A1,159

Al HAFE Z I 177,529 177,529
NS NLFX 177,529 177,529 0
FU=SALAHYAMY 150,000 150,000 0
401 A &HIYL 2048 150,000 150,000 0
01 Al&H| 150,000 150,000 0
OF A A 100,000 100,000 0
OHE18 FHAISFUIZARIIFT]
28 0¥ 0 10,000 A 10,000
OSN3 HEURSEDA[RIIHE]
2& 03 0 40,000 240,000
OX2 42 HUISAHRIIZH] 20,000 0 20,000
OUWRZ=2(2XH) ZHISAHRIIZE] 30,000 0 30,000
Ao|HYLHHEXRHZ2H 68,767 69,699 A932
ZOUEHF ST 10,107 1,089 £932
AR Xl 2e] 10,107 11,039 AQ32
201 LetEHH| 8,391 9,323 A932
02 =234l 8,391 9,323 A932
O SHI[0lAE 2] Z2& 3,510,000& 3,510 3,900 A 390
ONERZHISTHI[MAZZ] ZE 2,536,008 2,536 2,818 ~282
OXF LB [0l AHE 2] Z2& 2,345,000 2,345 2,605 A 260
HY2F I 52,765 52,992 N227
Jl2Zdl(&eld) 43,165 43,392 N227
Jl=&d| 43,165 43,392 N227
201 LBt A 14,545 15,492 VANCTI Vg
01 AR eIl 8,528 9,475 £947
OJl2+=80 [0l A= 2] 2 & 3,533,000& 3,533 3,925 A392
o= [olatE 2] Z2& 2,079,000& 2,079 2,310 A231
OCHPIAY 2SI [0 AR 2]
A 2,916,000 2,916 3,240 A324
202 O4dl 27,120 26,400 720
01 =Yl 27,120 26,400 720
CENEICSIEE:} 23 0nl 0 26,400 26,400
O=UOHI[£I13E] 27,120 0 27,120
O LI 200,000 111G »12& 26,400 0 26,400
OR2I01H] 30,0002 %224 * 128 720 0 720




qplL:
MBI EET
IPNE TS PR

AN [

SNBSS - MEAY - BES

pJE-E"

o 286,864 288,620 A 1,756
CHOHEt ALEI R b 150,300 150,300
EEEPEES 150,300 150,300 0
=08 YA ALY 150,000 150,000 0
401 AlEHIL 2O 150,000 150,000 0
01 Al&bl 150,000 150,000 0
OF LAY 50,000 50,000 0
O30S S 42U ZA[RIIZE]
23 02 0 25,000 25,000
OLTOIS AHHBUIBAH=2IIZH]
2% 02 0 25,000 25,000
OREXNT SYELMLBARIIZH] 50,000 0 50,000
OFBIHOIAY 100,000 100,000 0
OHE0tE S2ERBA[RIIZE]
23 02 0 30,000 30,000
OZSOtE HEBHIZBARIIZH]
2% 02 0 20,000 A20,000
OIS S2EZBA[RIIZH]
23 02 0 25,000 A25,000
OIS0 E. &2 THIBARIIZE]
23 02 0 25,000 25,000
OBHNE FHIZBAHRIIZE] 25,000 0 25,000
OZS0S SUH4E IHIBARIIZE] 35,000 0 35,000
OMSASY HSLMIIXBANY[2IIZE
] 40,000 0 40,000
WPI=ETNE - Pt 90,535 91,978 A1,443
SCIEIESTRESS 24,715 26,158 A1,443
HALR X el 24,715 26,158 A1,443
201 Yer2ey| 12,999 14,442 A1,443
01 A2R2t2It| 2,916 3,240 ~324
OHRAALSSHI[MAE2] ZF 2,916,008 2,916 3,240 324
02 22| 10,083 11,202 A1,119
O ZHI [0l A= 2] 2% 3,510,000 3,510 3,900 A390
O X2k BHHI [0l A R 2] 2% 2,344,5002 2,345 2,605 1260
02222 ¢ MANAE2]
ZH 4,227,3002 4,228 4,697 1469
ey B 46,029 46,342 A313
JI2ZHI(THote) 36,429 36,742 A313
1= 36,429 36,742 A313
201 Yer2y| 9,309 10,342 A 1,033
01 At el 5,612 6,235 1623
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M A

HE: HEH2H Y|

el JI23HI(HoHH) (etel: =3
SN CR(EH) - NRAY - BES 0l & 24 01 o BlnE2

OJl2=8H [0l arE 2] 2 & 3,532,500 3,533 3,925 A3

o=l (oA E 2] 23 2,079,000& 2,079 2,310 A 231

02 2323l 3,697 4,107 A410

OJles33=[0AE 2] 2% 1,188,000& 1,188 1,320 2132

OA&&EHI AL [MatEZ2] FE 2,508,300 2,509 2,787 A278

202 O4Hl 27,120 26,400 720

01 =LA bl 27,120 26,400 720

O=UHI[£I13E] 28 0¥ 0 26,400 A 26,400

O=UoHI[RI1ZE] 27,120 0 27,120

O2 L HI 200,000 «11H «12& 26,400 0 26,400

Oz 0l 30,0003 «2E «12& 720 0 720
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A 20,000
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SN gEle
A YEHUAMHNENLSY

ol EOIOIEH XX (=E L

SNBSS - MEAY - BES 01l &k o p/E-T" {imE=Eh

EXsl22d 3,600 4,000 A 400

201 Let2d| 3,600 4,000 2400

02 =234l 3,600 4,000 A400

OS2 LHMA[MAEZ] ZF 2,700,000 2,700 3,000 A300

odzdl[0laE 2] 2 & 900,000& 900 1,000 A 100

HE 2L FHI 53,839 55,022 A~ 1,183

Jl=2ZH(g8d) 44,239 45,422 A 1,183

JI=&Hl 44,239 45,422 A 1,183

201 LEH2HH| 17,119 19,022 A 1,903

01 AtSR22/H] 10,534 11,705 A1,171

OgBt=2H| 10,534 11,705 A1,171

OJlg=sdl[oat=E2]  ZE 10,534,000 10,534 11,705 A1

02 3323l 6,585 7,317 AT32

(OF=F=3o4, 5,285 6,017 AT32

OJI2233[0AaE2] &3 488,000 488 1,220 AT

202 O4Hl 27,120 26,400 720

01 2UWHYI 27,120 26,400 720

O=3UuHI[RI1ZE] 23 03 0 26,400 A26,400

O=3UubI[RI1ZEF] 27,120 0 27,120

OZLH HI 200,000 *11H «12& 26,400 0 26,400

O22l 4| 30,0003 x2H 122 720 0 720
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O 2] 33 4,110,0002 4,110 5,380 A1,270
02 B2l 7,997 8,885 888
O=32ZHl [0 AR 2] 7,997 8,885 A 888
OPJE=F=Erier= 2 97,0002 97 585 N488
OFMEIIZ 33X 4,840,0002 4,840 5,040 A 200
ORARHYE2HZ 33 2,560,0002 2,560 2,760 A 200
202 Oft] 31,920 31,200 720
01 2L 31,920 31,200 720
O=UoltI[=I1Z2E] 38 0¥ 0 31,200 231,200
O=UoltI[=2I1Z2H] 31,920 0 31,920
OZHLH O bl 200,000 * 13« 122 31,200 0 31,200
OZl o4 Hl 30,0002 x2Z 128 720 0 720
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